QUERY OBSERVATION AND CLARIFICATION WITH RECOMMENDATION

REQUIREMENTS OF 191 COMMUNITY HEALTH OFFICERS (CHOs) (NOVEMBER 2022)

UNDER NATIONAL HEALTH MISSION, STATE HEALTH & FAMILY WELFARE SOCIETY, TRIPURA

ONLINE WRITTEN TEST HELD ON DECEMBER 4, 2022 AT AGARTALA, TRIPURA

S. |Question |Paper Details |Question Description |Options Correct Option|Query By a Candidate |Ref Attached (by|Total Number |Clarification, Conclusion and Recommendation from
No |Id (As Candidate) of SME and Review Committee of SAMS
announced) Observation
1 [#56 CHO-NHM Repitition of words and |(A) Infants [Option ID = 66001] (B) Toddlers Toddler can talk meaning 1 The committee reviewed and concluded that there was
phrases without (B) Toddlers [Option ID = 66002] [Option ID = ful word they understand no error in the question and the answer keys, Option ID
understanding is a (C) Preschoolers [Option ID = 66003] 66002] and talk but infant repeat 66002 is the correct answer to the Question ID#56.
characteristic feature of [(D) Schoolers [Option ID = 66004] other words from 11 Hence, the review committee recommended that one
[Question ID = 56] month ba- ba, da- da, ma- mark be awarded only to the candidates who responded
ma the question as Option ID 66002 for the question.
Please refer to a reference URL and book reference:
(1) Wong's Page No. 415;
(2) https://www.webmd.com/parenting/what-is-
echolalia#:~:text=%E2%80%8CChildren%200ften%20le
arn%20to%20speak,in%20children%200lder%20than%2
03.&text=1t%20can%20happen%20in%20children%20wi
th%20autism%20spectrum%20disorders%20like%20As
perger's%20syndrome.
2 [(#4 CHO-NHM The method of family (A) Barrier method [Option ID = 14001] |(A) Barrier ALL OPTIONS ARE 1 The committee reviewed and concluded that there was
planning adopted to (B) Hormonal methods [Option ID = method [Option INCORRECT no error in the question and the answer keys, Option
prevent live sperm from |14002] ID = 14001] ID#14001 is the correct answer to the Question ID#4.
meeting the ovum is (C) Post Conceptional methods [Option Hence, the review committee recommended that one
called as ID = 14003] mark be awarded only to the candidates who responded
[Question ID = 4] (D) Intra uterine devices [Option ID = as Option ID#14001 for the question.
14004]
Please refer to a book reference:
(1) Reference: Park Page No.-545 [Image Reference:
QuestionID#4.jpeg] attached with the mail.
3 [#71 CHO-NHM During abdominal (A) 12 weeks [Option ID = 81001] (C) 20 weeks |a) Fundus at the https://gm.samshr 2 The committee reviewed and concluded that there was
examination of an (B) 18 weeks [Option ID = 81002] [Option ID = umbilicus - 20 week m.com/Uploads/Ex no error in the question and the answer keys, Option
antenatal woman, the  |(C) 20 weeks [Option ID = 81003] 81003] Fundus at the lower am/638060070634 ID#81003 is the correct answer to the question ID#71.
(D

health care provider
palpates the fundus flat
at the lower border of
the umbilicus. This
feature is seen at which
of the following weeks
of pregnancy

[Question ID = 71]

) 37 weeks [Option ID = 81004]

border of the umbilicus is -
18 weeks

b) All option are given in
this question wrong .

708286.jpg

Hence, the review committee recommended that one
mark be awarded only to the candidates who responded
the question as option ID#81003.

Please refer to a book reference:
(1) Reference: Park Page No.-577 [Image Reference:
QuestionID#71.jpeg] attached with the mail.




#99 CHO-NHM Which of the following [(A) Club foot [Option ID = 109001] (B) Rickets The answer to this https://gm.samshr The committee reviewed and concluded that there was
disease is caused by (B) Rickets [Option ID = 109002] [Option ID = question could be Rickets |m.com/Uploads/Ex no error in the question and the answer keys, Option
the deficiency of Vitamin|(C) Osteomyelitis [Option ID = 109003] [109002] & Osteomyelitis. To be am/638060324029 ID#109002 is the correct answer to Question ID#99. The
D? (D) Skeletal dysplasia [Option ID = precise the answer should(745217.jpg candidate has referred to Osteomalacia which is not an
[Question ID = 99] 109004] be Osteomyelitis. option in the Question. Osteomyelitis Option ID#109003

is a different bone disease which is caused by an
infection.

Hence, the review committee recommended that one
mark be awarded only to the candidates who responded
to the question as option ID#109002.

Please refer to a reference URL:

(1) https://www.differencebetween.com/what-is-the-
difference-between-osteomyelitis-and-osteomalacia/;
(2) https://wikidiff.com/osteomyelitis/osteomalacia

#26 CHO-NHM An unexpected, (A) Fall [Option ID = 36001] (C) Accidents  [Unplanned and The review committee reviewed and concluded that
unplanned occurrence |(B) Skidding [Option ID = 36002] [Option ID = unexpected occurance there was no error in the Question and the Answer key
which may involve injury[(C) Accidents [Option ID = 36003] 36003] which may involve injury- Option ID#360083 is the correct answer to the Question
is called as (D) Assault [Option ID = 36004] fall Unplanned and ID# #26. Hence, the review committee recommended
[Question ID = 26] unexpected occurance that one mark be awarded only to the candidates who

which may involve injury- responded the question as option ID #36003.
accident, in fall as well as

accident injury may occur, Please refer to a book reference:

(may ) makes the answer (1) Reference: Park Page No-436 [Image Reference:
confusing QuestionID#26.jpeg] attached with the mail.

#76 CHO-NHM Total number of A) 2 [Option ID = 86001] (B) 3 [Option ID [ALL OPTIONS ARE INCORRECT The committee reviewed and concluded with a
antenatal visit by a B) 3 [Option ID = 86002] =86002] recommendation of scrapping this question and
pregnant lady should be |(C) 1 [Option ID = 86003] awarding one mark to each candidate who participated
at least D) 5 [Option ID = 86004] in the written test on December 4, 2022.

#29 CHO-NHM Which of the following [(A) Mammography [Option ID = 39001] |(B) ALL OPTIONS ARE INCORRECT The committee reviewed and concluded that there was

screening for breast
cancer has an
advantage that patient
not exposed to radiation
[Question ID = 29]

B) Thermography [Option ID = 39002]
C) PET scan [Option ID = 39003]
D) CT scan [Option ID = 39004]

P Pr———

Thermography
[Option ID =
39002]

no error in the question and the answer keys, Option
ID#39002 is the correct answer to the Question ID#29.
Hence, the review committee recommended that one
mark be awarded only to the candidates who responded
the quesiton as option ID#39002.

Please refer to a book reference:
(1) Reference: Park Page No.-416 [Image Reference:
QuestionID#29.jpeg] attached with the mail.




